Mar 2, 2023 Math 251: Quiz 6
Name: S Ol""&‘ons /25

There are 25 points possible on this quiz. No aids (book, calculator, etc.) are permitted. Show all
work for full credit.

1. (15 points) Find the derivative of each function. You do not need to simplify your answer.
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2. (4 points) Use logarithmic differentiation to find % for the function y(x) = ’%i(;)
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3. (6 points) The graph of the equation xy? = x> — 2y is drawn below.
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(b) This curve has two different points when x = 2. Find the equation of line tangent to the
curve at x = 2 in the first quadrant. Draw the tangent line on the graph above.
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